

$$ج) \cos 2\alpha + \sin \alpha = 1 \Rightarrow 1 - \sin^2 \alpha + \sin \alpha = 1 \Rightarrow \sin^2 \alpha - \sin \alpha = 0$$

$$\sin^2 \alpha + \sin \alpha - 1 = 0 \Rightarrow \sin^2 \alpha + \sin \alpha - 2 = 0 \Rightarrow (\sin \alpha - 1)(\sin \alpha + 2) = 0$$

$$\sin \alpha = \frac{1}{r} \Rightarrow \alpha = 2k\pi + \frac{\pi}{4} \quad ; \quad \alpha = 2k\pi + \pi - \frac{\pi}{4} = 2k\pi + \frac{3\pi}{4}$$

$$ج) \cos 2\alpha + \cos \alpha = 1 \Rightarrow 2\cos^2 \alpha - 1 + \cos \alpha = 1 \Rightarrow 2\cos^2 \alpha + \cos \alpha - 2 = 0$$

$$2\cos^2 \alpha + \cos \alpha - 2 = 0 \Rightarrow \cos^2 \alpha + \cos \alpha - 2 = 0 \Rightarrow (\cos \alpha + 2)(\cos \alpha - 1) = 0$$

$$\cos \alpha = 1 \Rightarrow \alpha = 2k\pi$$

$$ج) \sin^2 \alpha - \cos^2 \alpha = \sin \epsilon \alpha \Rightarrow (\sin^2 \alpha - \cos^2 \alpha)(\sin \alpha + \cos \alpha) = \sin \epsilon \alpha$$

$$-\cos 2\alpha = \sin \epsilon \alpha \Rightarrow \sin(-\epsilon \alpha) = -\cos 2\alpha \Rightarrow \cos(\frac{\pi}{2} + \epsilon \alpha) = -\cos 2\alpha$$

$$\frac{\pi}{2} + \epsilon \alpha = 2k\pi + \pi \Rightarrow \epsilon \alpha = 2k\pi + \frac{\pi}{2} \Rightarrow \alpha = \frac{2k\pi}{\epsilon} + \frac{\pi}{2\epsilon}$$

$$\frac{\pi}{2} - \epsilon \alpha = 2k\pi - \pi \Rightarrow \epsilon \alpha = 2k\pi - \frac{3\pi}{2} \Rightarrow \alpha = \frac{2k\pi}{\epsilon} - \frac{3\pi}{2\epsilon}$$

$$ج) \cos^2 \alpha + \sin \alpha \cos \alpha = 1 \Rightarrow \cos \alpha (\cos \alpha + \sin \alpha) = 1 \Rightarrow \cos \alpha = \frac{1}{\cos \alpha + \sin \alpha}$$

$$\cos(\frac{\pi}{2} - \alpha) = \cos \alpha \Rightarrow \cos(\alpha - \frac{\pi}{2}) = \cos \alpha \Rightarrow \alpha - \frac{\pi}{2} = 2k\pi + \alpha \Rightarrow \alpha = \frac{\pi}{2} + 2k\pi$$

$$\alpha - \frac{\pi}{2} = 2k\pi - \alpha \Rightarrow \epsilon \alpha = 2k\pi + \frac{\pi}{2} \Rightarrow \alpha = \frac{2k\pi}{\epsilon} + \frac{\pi}{2\epsilon}$$

$$ج) \frac{\cos \alpha}{\sin \alpha} (2\cos \alpha + 1) = \frac{1}{\sin \alpha} \Rightarrow \frac{\cos^2 \alpha + \cos \alpha}{\sin \alpha} = \frac{1}{\sin \alpha} \Rightarrow \cos^2 \alpha + \cos \alpha - 1 = 0$$

$$\cos^2 \alpha + \cos \alpha - 1 = 0 \Rightarrow \cos^2 \alpha + \cos \alpha - 2 = 0 \Rightarrow (\cos \alpha - 1)(\cos \alpha + 2) = 0$$

$$\cos \alpha = -1 \rightarrow \alpha = \pi + \pi \rightarrow \sin \alpha = 0 \rightarrow \sin \alpha = 0$$

$$\cos \alpha = \frac{1}{r} \rightarrow \alpha = \arccos \frac{1}{r}, \alpha = \arccos \frac{1}{r}$$

$$r \sin^2 \alpha - \sin \alpha \cos \alpha + \cos^2 \alpha = r$$

$$r(1 - \cos^2 \alpha) + \cos^2 \alpha - \sin \alpha \cos \alpha = r$$

$$r - r \cos^2 \alpha + \cos^2 \alpha - \sin \alpha \cos \alpha = r$$

$$-r \cos^2 \alpha - \sin \alpha \cos \alpha = 0 \rightarrow \cos \alpha (\cos \alpha + \sin \alpha) = 0$$

$$\cos \alpha = 0 \rightarrow \alpha = \frac{\pi}{2}, \alpha = \frac{3\pi}{2}$$

$$\sin(\alpha) = \cos \alpha \rightarrow \cos \alpha = \cos\left(\frac{\pi}{2} + \alpha\right) \rightarrow \frac{\pi}{2} + \alpha = \pi + \alpha$$

$$\frac{\pi}{2} + \alpha = \pi - \alpha \rightarrow \alpha = \frac{\pi}{4}, \alpha = \frac{3\pi}{4}$$

$$\text{الف) } \cos\left(\frac{\pi}{2} + \alpha\right) \cos\left(\pi - \frac{\pi}{2}\right) = \frac{1}{2} \rightarrow \frac{\pi}{2} + \alpha + \pi - \frac{\pi}{2} = \frac{\pi}{2}$$

$$\cos\left(\frac{\pi}{2} + \alpha\right) \cos\left(\frac{\pi}{2} - \alpha\right) = \cos\left(\frac{\pi}{2} + \alpha\right) \sin\left(\frac{\pi}{2} + \alpha\right) = \frac{1}{2} \sin\left(\frac{\pi}{2} + \alpha\right)$$

$$\frac{1}{2} \cos \alpha = \frac{1}{2} \rightarrow \cos \alpha = \frac{1}{2} \rightarrow \alpha = \frac{\pi}{3}, \alpha = \frac{5\pi}{3}$$

$$\alpha = \frac{\pi}{3}, \alpha = \frac{5\pi}{3}$$

$$\alpha = \frac{\pi}{3}, \alpha = \frac{5\pi}{3} \rightarrow \alpha = \frac{\pi}{3}, \alpha = \frac{5\pi}{3}$$

$$\cos\left(\pi - \frac{\pi}{2}\right) = -\sin \pi = \sin\left(\frac{11\pi}{2} - \pi\right) = \sin(-\pi)$$

$$g_{in}(r_m) = g_{in}\left(r_m - \frac{11\pi}{1\lambda}\right) \quad \rightarrow \quad r_m = 11\pi + \pi = r_m + \frac{11\pi}{1\lambda}$$

سید

4/18/20

$$r C e^{r\alpha} + r C - S e^{-r\alpha} = 0 \rightarrow r C \cdot S (e^{-r\alpha} + 1) = 0 \rightarrow \begin{cases} C \beta \alpha = 0 \\ C \beta \alpha = -1 \end{cases}$$

$$|x| - a = x^2$$

$$\cos^2 \theta - \sin^2 \theta \cos 2\theta = 1$$

Q13

$$1 - \sin^2 \theta - \sin^2 \theta \cos 2\theta = 1 \rightarrow \sin^2 \theta + \sin^2 \theta \cos 2\theta = 0$$

$$\sin^2 \theta = 0$$

$$\sin^2 \theta (1 + \cos 2\theta) = 0 \rightarrow \cos 2\theta = -1$$

$$\sin^2 \theta = 0 \rightarrow \sin \theta = 0 \rightarrow \theta = n\pi \rightarrow n = 0, \pi, 2\pi$$

$$\cos 2\theta = -1 \rightarrow 2\theta = 2k\pi + \pi \rightarrow \theta = \frac{2k\pi + \pi}{2} \rightarrow \frac{\pi}{2}, \frac{3\pi}{2}$$

جواب

$$\tan(\theta - \alpha) = \frac{\tan \theta - \tan \alpha}{1 + \tan \theta \tan \alpha} = \frac{1 - \tan \alpha}{1 + \tan \alpha}$$

Q12

$$\tan \theta = \tan(\theta - \alpha) \rightarrow \theta = k\pi + \frac{\pi}{2} - \alpha \rightarrow \theta = k\pi + \frac{\pi}{2}$$

$$\theta = \frac{4\pi}{5} + \frac{\pi}{14}$$

Q13

$$\sqrt{1 + \sin 2\theta} = \sqrt{r} \cos \theta$$

$$\sqrt{\sin^2 \theta + \cos^2 \theta + 2\sin \theta \cos \theta} = \sqrt{r} \cos \theta \rightarrow |\sin \theta + \cos \theta| = \sqrt{r} \cos \theta$$

$$\sin \theta + \cos \theta = \sqrt{r} \cos \theta \rightarrow \sin \theta = (\sqrt{r} - 1) \cos \theta$$

$$\cos \theta = \cos(\frac{\pi}{2} - \theta) \rightarrow \theta = k\pi + \frac{\pi}{2} - \theta \rightarrow \theta = \frac{k\pi + \pi}{2} \rightarrow \frac{\pi}{2}, \frac{3\pi}{2}$$

$$\theta = k\pi + \frac{\pi}{2} \rightarrow \theta = \frac{k\pi + \pi}{2} \rightarrow \theta = \frac{k\pi + \pi}{2} \rightarrow \frac{\pi}{2}, \frac{3\pi}{2}$$

جواب

Practice More Book

Subject

Date

$$\sin \theta - \cos \theta = 1 \quad \text{Circle} \rightarrow \frac{1}{2}, \frac{1}{2} \quad \text{سوال}$$

$$\sin \theta - \cos \theta = 1 \quad \text{Circle} \rightarrow \frac{1}{2}, \frac{1}{2}$$



حسنہ حسین